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o XNEYXR 500,000& = 3 = 23] 3,000
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04 =2 o 4l 15,800 15,800
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= o 1,800,000& * 6¥ 10,800
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o JERAZSYRFAH  4,800,0008 * 8Y 38,400
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6,820& = 12% = 30AI2+ = 128 29,463
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o ZEfH EH 250,000& = 44 1,000
o ZgiH &Y 250,000& * 404 1,000
o E2H €3 350,000& = 101 ~ 63 2,100
o E2H X 80,000& = 15 « 6& 480
o SALEX 25,0003 = 102fA « 12& 3,000
SELEL: 5,400
- XX 10,000& * 302 * 12& 3,600
-2 15,000& = 108 » 128 1,800
o G2 SHE 20,000 = 200 = 12& 480
o ZeIXtE =Xyl 2,000& * 5AI2t = 12& 120
o JERA MRESE 10,0008 * 65 » 123 720
o HJls MEE 50,000& = 5& = 12& 3,000
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o FULERI 8,800& = 1CH » 123 106
o N33 150,000& = 3CH = 12& 5,400
<dHdzHl > 0
o 1,2 Xt&8 HA=4|
2,036.43% = 2464 = 208 » 128 12,024
o e )|HAZ Y| 1,384.46& * 4804 665
< AN&EFHIsXH > 0
o o4, AHRY & d23) =4
350,000& = 10CH 3,500
o ZEH ¥ SAHI =d 300,000& = 4CH 1,200
o Z239%, 4P LESEH FA2e
600,000& * 23| 1,200
< Xl > 0
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